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Class- 10th 

Science & Technology 

(Hindi & English Version) 

Time: 3 Hrs 	 M.M : 60 

nN• :— 

Special Instructions :- 

(i) 3kR---pu-cf5T Tjc6Li 	-4\5 	44 uk -ft7 	co- -44W9---L-1-)1 	.iftr7 I 

You must write question paper series in the circle at top left side of title page of your 

answer book. 

(ii) W-11- -61>i - 3'c-N 	ffillt -611 q*.1--dCql 	 414' 

3111c10 I 

While answering your questions, you must indicate on your answer-book the same 

question no. as appears in your question paper. 

(iii) -41-ct. 	..A1(-11 	Vrlf 	I 

Do not leave blank page/pages in your answer-book. 

(iv) -,H41) wq 3P-44 P; I 

All questions are compulsory. 

(v) 31L.441 	 711 4:1-1 	I 

Draw labelled diagram in support of your answer wherever necessary. 

Questions from 1-15 carry 1 mark each. No mark will be given to the answer written after 

cutting. 

fikWyt - -iCc.L.11 1 	15 Oct > 1 31c.t) 4)1 	6;1451 \3 -(H chid ci-N -ft-r1GT,) -(1>) 	3t 	i t f I -05-11101 I 

0.1 	Complete the chemical equation. 

Na0.11 liel 	 

RAttNut -VI. 41773N 

0.2 	Write the common name of Ca 0 

(1) 
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Ca 0•c-bi 	 R-R41 

0.3 	Write the electronic configuratri 	ion 

c/ on -cf-)i• 	c-incf,. 1ii R;R4 I 

QA 	Name the functional group present in C11,01-1. 

C11,011 '4)•3-1•A1ci• tAcrwSli4-)-  .s2-i4k0 4R-11-  . 2? 

0.5 	Name the plant tissue which transports water & minerals. 

tirctiLA• 	a9-41 .Q-iqul 	 cf):1 -(41 -c) -6';(RF-3J T11 

0.6 	Name the hormone which controls the blood sugar level in humans. 

iThict 4\i 	 1eP-21ci 	(AOI1l 	1 lIl1-,IIZA•I 

0.7 	Write the .full form of abbreviation DNA 

D.N.A. cH {d1%1 	 I 

	

0.8 	Name the father of Genetics. 

at4jcliPl4 ci\-) )F'lc 	l lIl 1,-1R<.A I 

	

0.9 	Define the unit of Potential Difference. 

iRIJ' -cf) 	q1nfciR 

	

Q.10 	Write the lens formula 

Afl.  

	

0.11 	What is the far point for a normal human eye? 

•utni-4 

0.12. 	Refractive index of water is 

qj 	i 3ncickicb' 

Q.13 Name two non renewable energy sources. 

6-5ll• (.1‘-; -Ltt 3i;ic-1,1iNT 	-<t\-) 	Till 1-csiftv I 

	

0.14 	On which river 'Finn Darn' in built? 

chi P4ilui 14,o 

Q.15 Define Biosphere 

-61--coiu6"&` Rii 1{n 
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';179 3-i.[1.  16 '2) 25 -dgi. qi..4(ti 	-;- f 2 81-45-  4i1 t' I errSiTt 	3"-cR Q14111 4 I 30 71Gq T).  

9 -0).  I 

Question Nos. 16 to 24 carry 2 mark each and their answer should not be more than 30 

words. 

	

Q.16 	WINN cl-)).  3 	 -qz4-  

Why is respiration considered as an exothermic reaction? 

	

Q.17 	-er-4-r. (1. 	 44t. 

What were the limitations of Dobereiner's classification? 

	

Q.18 	451-4;i- 	4RRO 'zi51. 3t-P414 1-  3-0-45-(R :37.-14.44I 	t)t-i 	10.  itzfT ■311c1I 

Why are carbon and its compounds used as fuels for most applications? 

	

Q.19 	41 -c{ cb q\J1T 	 310 P.2? 

What is the function of digestive enzymes? 

	

Q.20 	1-R1 -4P4 f45Lli 	.R51 q.cf)N fs•-4 

Now is the Process of Pollination different from fertilization? 

	

0.21 	2 m 	 TA.  •145-4 aiciuo 	mi.far 	 -etftiq I 

Find the power of a concave lens of focal length 2 m. 

	

0.22 	-dr• -etz,4 'NR,) 	.g"? 

Why do stars twinkle? 

	

0.23 	.err of '1i- 	ciiNzbI. 	P111 -cd1 

On what factors does the resistance of a conductor depend? 

	

0.24 	4q1..e-fikul• 	f4; 	lied4 	(:l,11,,,,1„ .010- 	31'1, Ty  3F6t-4 f*Act.,1)q? 

Why are some substances biodegradable and some non-biodegradable? 

Q.No. 25 to 28 carry 3 marks each and their answer should not be more than 40 words 

A■1:R,  I .- -i■g11.  25 1 28 c14) tA- 1c1-) 	3 3j(-1-) 4)1 	41 	cl>) 3cN rlIN 140 	641 	311 -cli rr 

-6) I 

Q.25 Glucose breaks into pyruvic acid in cytoplasm by the final product in different situations 

is different. Explain the process of glucose break down in following situations. 

(3) 
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(a) In presence of oxygen 

(b) In absence of oxygen 

(c) In deficiency of oxygen. 

zAP-1451. -cuLl 4 '4ACI5) r ylu) (f cn 31 Uj 	Wq14'-fl 	t I 	 4cto A 

4>̀) 	111 .1u11 c I - 

(a) 311.  c-RThaq cbc) -11R2111 4 

(b) 31TERNFE (1)`1 3iTIR2410 

(c) 3Trzra-A;1.  -• -cti41' 

Q.26 Metal compound A react with dilute hydrochloric acid to produce effervescence the gas 

evolved extinguishes a burning candle. Write a balanced chemical equation for the 

reaction, If one of the compound formed is CaC/ 2 . 

4> 'A' ;LI b' 	 -flr24.  ft-4r ct.)01 * nl 141416 

0 4 ra .4)1 IT 	tI zn 	 -41-ffr-4-  4 ct) caci2 t, 

3T1 fur1.1>i 	 ff'irt 

Q.27 20 n 	-<f >c)- 	1. a 5 A R-Ti-  I r •-c-401-  I 30 s 91.9 3n 1-Titbit-a --tr-A--q. I 

An electric iron of resistance 20 K. 2 takes a current of 5A. Calculate the heat developed 

in 30 s. 

Q28 	"T611 11 .) 	'ad. 	4z-II .4,tur -6)-a 

What are the qualities of an ideal source of energy? 

O. No. 29 to 31 carry 5 marks and the answer should not be more than 70 words. 

't.-kg-it 29 	31 d4i 	M:M 5 3ict; 	 WrITIT 70 	34 3-114i 9 6) I 

0.29 .%go 	cbr 	3:11 	11*. 	 U41 	-R-Azpz m`tr-A-q. I 	4 fal-T-4Tr 

ft614 0'4 cur -4)14 

Draw a labelled diagram of an electric motor. Explain its principle and working. What is 

the function of a split ring in an electric motor? 

	

0.30 	\7fi- ti 311,Z 	vietT4 43.  64 ;1 -471 atM 	 'qr  I 

What are the differences between the transport of materials in xylem and phloem? 

	

Q.31 	 451.  qui4 	I 

Explain the mechanism of the clearing action of soap? 

(4) 

Downloaded from cclchapter.com


	Page 1
	Page 1 (1)
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34



